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fori:=21t0 20do
forj:=2toido
fork:=2tojdo
print(i *j + k)
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+ (154) Determine each of the following:

@|23-16] b [23)-16] of34Ix[62] Hl62x|3.4] ef2x]

(15 %) Suppose that a department contains 7 men and 12 women. How many

ways are there to form a committee with seven members if it must have strictly

more women than men?

(20 4-)Determine whether the relation R on the‘ set of all real numbers is

Y
’

reflexive, symmetric, antisymmetric, and/or transitive, where (x,y) € R if and

only if

(b) x — y is a rational number.
(d)x=1ory=1.

(a)yx+y=0.
(byxy = 0.




